

(4) Show that if m divides n ($m|n$) then

$$f(x) = \frac{(x^m - 1)}{(x - 1)} \text{ divides } \frac{(x^n - 1)}{(x - 1)} = g(x) ; g(x) = f(x)h(x)$$

$n = k \cdot m$

Suppose that m divides n , then $m = \frac{n}{k}$

$$f(x) = 1 + x + x^2 + \dots + x^{m-1} ; g(x) = 1 + x + x^2 + \dots + x^{n-1}$$

$$g(x) = 1 + x + \dots + x^{k \cdot m - 1} \text{ for some } k \in \mathbb{Z}$$

$$g(x) = \left\{ \begin{array}{l} 1 + x + \dots + x^{m-1} = 1 + x + \dots + x^{m-1} \\ + \\ x^m + x^{m+1} + \dots + x^{2m-1} = x^m (1 + x + \dots + x^{m-1}) \\ + \\ x^{2m} + x^{2m+1} + \dots + x^{3m-1} = x^{2m} (1 + x + \dots + x^{m-1}) \\ + \\ \vdots \\ + \\ x^{(k-1)m} + x^{(k-1)m+1} + \dots + x^{km-1} = x^{(k-1)m} (1 + x + \dots + x^{m-1}) \end{array} \right.$$

$$g(x) = (1 + x + \dots + x^{m-1}) (1 + x^m + x^{2m} + \dots + x^{(k-1)m})$$

$\underbrace{1 + x + \dots + x^{m-1}}_{f(x)}$ $\underbrace{1 + x^m + x^{2m} + \dots + x^{(k-1)m}}_{h(x)}$

$$\Rightarrow f(x) \mid g(x) \checkmark$$